"Give s.o. s.th." vs. "give s.th. to s.0." in the International Corpus of English (Using ICE-CUP)
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Results of our mini project:
"Gives.o.s.th.": 316

"gives.th.tos.o.": 43
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What motivates their choice?

(hint: count pronouns vs. full NPs)

— we have analyzed the ditransitive verb ‘give’ and the position of its objects
— the data suggests that one combination is used more frequently: give O; Oy

— there is a tendency to put short entities, like pronouns, directly after the verb; longer entities are pushed to the end
of the sentence



